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" An equation 3'+3""+6=0 is of form: e (703434620 bl
a) Radical b) Exponential a) $rie b) Afes
¢)Reciprocal d) None of these O~ d) None of these

2 Equation 3° +6=0 is of type: P :.,g!;_fjJSE'x+6=0 = sl
a)Exponential b)Radical a)= bV = d " b "-"fij' S
c¢)Reciprocal d)None Oy £ DU S i

3 The Quadratic formula is: e U S s
a)xz_bim b) x=+bi b*—4ac a) xz—bim b)x:+bi\‘b2—4ac

24 2a 2a 2a
b+~b*> —4ac —b++/b? +dac _bEb —4ac _ —bxP +4dac

c) sz d) sz c) X—T d)x-T

4 Two factors of x'=15x+56=0 are

a)(x+8)(x-8) b)(x-8)(x+7)
)(x-8)(x-7) d)(x+8)(x+7)
An equation which remains unchanged
replacing x by 1 /xis called:
a)Exponential equation

b)Reciprocal equation

c)Radical equation

d)None of these

6 Number of ways to solve quadragie

equation are:
a)l b)2
c)3 d)4

Number of terms in standard quadratic
equation ax +bx+c=0:

a)l b)2
c)3 d)4

® Equation is 2x'-3x +7x ~3x+2=0 called:
a) Reciprocal b)Radical
¢)Exponential d)None
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